000312-002

2009-2011 DS Golf Cars lllustrated Parts List

Page 5-6



FRONT SUSPENSION, UPPER

ITEM PART NO. DESCRIPTION QTY
123 4

1 N/A Sub, Fr Susp. -1 Lf-2wb Golf (includes items 2 through 21) .......ecnnnernsernnesisnsssssissenns A/R
2 1010138 Locknut, 3/8-16 Dimpled . 2
3 1016353 Sub-Assembly, Delta A-Plate (includes items 4 through 7) 2
4 1016346 Bushing, Urethane 6
5 1016349 Sleeve, Delta Inner ....... 2
6 1016350 Sleeve, Delta Outer ...... 1
7 N/A Delta A-Plate .......cccoeeveerverrenerensrerennn. 1
8 1016385 Delta Shock and Gear Support Assembly 1
9 1016387 Screw, 3/8-16 X 2.75 Hx Hd Cap 2
10 1017266 A-Plate Strap 2
11 102289201 Nut - Hex Locking, M12 X 1.25 3
12 103351001 Shock Absorber, Front, Common 2
13 N/A Asm, Tie Rod (includes items 14 through 18) .........cccinneiinneineeennesisesisessssesssssssssssessessnnes 1
14 1013042 Nut, 12mm Hex 1
15 102022601 End, Tie Rod M12 X 1.25 Rh 1
16 102022602 End, Tie Rod, M12 X 1.25, Lh 1
17 103354701 Rod, Tie, Male Thd 1
18 103653501 Nut, Jam, M12-1.25, Lh 1
19 2402 Screw, 3/8-16 X 2.25 HX HA Cap ..cccceevverrrenrrcnerensrnerenssenenene 4
20 8754 Locknut, 3/8-16 Hex 13
21 8861 Bolt, 3/8-16 X 1.75 Hex 2

2009-2011 DS Golf Cars lllustrated Parts List

Page 5-7




